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Candidates must write the Code on
the title page of the answer-book.
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¢ Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 32 questions.
e Please write down the Serial Number of the question before
attempting it.

¢ 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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(i)  FH @t & Tt yeT Sifard &

(i) ¥9% 399 & f9iftd 3i® 39 qma few 0 & |

(iii) 599 GET 1 -6 o4 17 - 21 3fa TgEs 54 &, 599 59% 77 1 3%
g | 3997 3 I UF araq 7 # T #

(iv) 599 T& 6 - 10 3K 22 — 26 Fq7UAE ¥97 &, 577 539% & 3 3% # |
Y% 1 U A 60 Wl § Sfyw @ @ T |

(v) ¥ T= 11 - 13 37 27 - 29 & agooas 597 8, 570 79% & 4 ¥%
§ | 7% 1 I G 70 ViEm 9 s T8 g e’ |

(vi) F97 &I 14 - 16 37 30 - 32 =Egews I T 797 &[54 597 &
6 3% & | ¥uF F IaT qEET 100 V=i & 3 78 g SET |

(vii) I GBI TUT TeAHF B TET A9 FAEVE FW I T AW F Hadg &
frw @7 TIfew |

General Instructions :
(i)  All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(1) Questions No. 1 -5 and I7-21 are very short-answer questions
carrying 1 mark each. They are required to be answered in one
sentence cach.

(iv) Questions No. 6-10 and 22-26 are short-answer guestions
carrying 3 marks each. Answers to them should normally not exceed
60 words each.

(v)  Questions No, 11 - 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. I4-16 and 30-32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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H{UE
SECTION A
1. =fE e =t gftamn difse i
Define microeconomics.
2. U g% % f@EH4 & UF FAU FART | 1

(Give one reason for a shift in demand curve.

3. S-S TR # 3fz A ¥, w ufEdl o @ SEER ¥ T g 7 1

What is the behaviour of Total Variable Cost, as output increases ?

4, F U @R ¥ food o § W Fmw | Iwien a5 @ e f wmoae
Al #, €W dufs (H0TH) 1 HF8R ¥4 | 7 i

What is the behaviour of Marginal Revenue in a market in which
a firm can sell any quantity of the output it produces at a given
price 7

5. #Figa-fauie v 9 = wfaum 2 2 1

What is a price-maker firm ?

6. IEA UGS 9% % g Sfew | geeET fF 9w 99 9 o e # 3R gea
= a2 | 3

Define Production Possibilities Curve. Explain why it is downward
sloping from left to right. '

7. UF IUGRH FAe o e, X SR Y # 309 Far € R Fged ¥ @1 X &
el 9T ST # | I faverer | IwARw @ SRR WY | 3

A consumer consumes only two goods X and Y and is in equilibriurh.
Price of X falls. Explain the reaction of the consumer through the Utility
Analysis,

58/1 3 P.T.O.
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8. % @ @ ¥ g uiadl @ma, §@ @vE, it g R @ o et | 3

Draw Total Variable Cost, Total Cost, and Total Fixed Cost curves in
a single diagram.

Tz fefafad Jv7 30 gfvgiT aignéal & G0 577 §7 8 % &+ W # |
Note : The following question is for the Blind Candidates only, in lieu
of Q. No. 8.

HR-IY IOEA TEA &, F@ NG F T FAGER @el d, THRC |

Explain the behaviour of total cost as output increases.

9., UF INRF ACH guq § FRW WA § iR ueed A AeR Heud [E & 2 |
W GO ¥ ¥AMEd 3N WE A6 # Ve F | SHEET | 3

A producer starts a business by investing his own savings and hiring
the labour. Identify implicit and explicit costs from this information.
Explain.

10. ©E uida sfaart @R # faskaet @ 9@ d@ #W A 9 uiom fsea g,
LLEIEL 3
aroran
THART fF UE seqfer TR ¥ FEa §9 B & 4 e €

Explain the implications of large number of sellers in a perfectly
competitive market.

OR

Explain why there are only a few firms in an oligopoly market.

11. Us 3MfwE AEfag & oty difqu | onemee 5 5= E 3R # oEfume 9%
T IEE (HqfE) = W A g 2 * 4

Define an indifference map. Why does an indifference curve to the right

show more utility ? Explain.
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13.

14.

58/1

F|ied T 98 T 200 T©9 a1 # | ¥ave fafy g 9ft 31 #9999 99 i) =g
oAl & HYR W HT 9% & AER w feunit Fifaw |

A consumer buys 10 units of a commodity at a price of T 10 per unit. He
incurs an expenditure of T 200 on buying 20 units. Calculate price
elasticity of demand by the percentage method. Comment upon the shape

of demand curve based on this information.

uftadi wudl & e = foEd 2 7 39 ER % HIER i 39R 1 EER
TART | |
e

T # Fdl § SfEdd d UF IR 1 99 WS4 799 ISl 8, SHIRT |

What does the Law of Variable Proportions show 7 State the behaviour

of marginal product according to this law.

OR

Explain how changes in prices of inputs influence the supply of a

product.

(i) e el o wm aagsl F A9 SR (i) ST sTEtT st svfEs
(FAYES) SYAINTT & o9 3t TART | T & Iami o |

Explain the difference between (i) inferior goods and normal goods and

(ii) cardinal utility and ordinal utility. Give example in each case.

5 P.T.O.
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15. “9ff "5 § ufEds” 3R “9fd § ofeds’ # §e @ sEeRY | @rires o
FIET | 6

Explain the distinction between “change in quantity supplied” and

“change in supply”. Use diagram.

Az : frefafaa 5v7 a0 gegiT wigndal & o0 797 Tem 15 % WF W E |

Note : The following question is for the Blind Candidates only, in lieu
of . No. 15. '

“off W ¥ e SR I § wRedT @i sl UH A 9 9EEe
LU E I

Explain the distinction between “change in quantity supplied” and

“change in supply” with the help of a table.

16. % 5 & 99X Hged 9 & | W ¥R O 39 ¥ us-mw T emer & o
AR FHd H FE GfiEdd 98 T | U difcsl F1 Seal § wWwREe fE U
4 v 2 | 6

HAGET

UF g5 W AR Hqed # § | g Fa (1) dgem Fima ¥ e o (i) Sqem
FUa B Y @, O A9R § B I SaEas & Ee 99AE |

Market for a good is in equilibrium. There is simultaneous “decrease”
both in demand and supply but there is no change in market price.

Explain with the help of a schedule how it is possible,
OR

Market for a good is in equilibrium. Explain the chain of reactions in the
market if the price is (i) higher than equilibrium price and (ii) lower than

equilibrium price.
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18,

19.

20.

21.

22.

28/1

s q
SECTION B

YEIE =7 & uftamr e |

Define flow wvariable.

U g # ofa S |

Define consumption goods.

sEYE wst | @ stwg § 7

What are time deposits ?

‘g U it dife |

Define a ‘direct tax’.

feor fafma @ ¥ 701 sifmmg 2 2
What is a fixed exchange rate ?

R F=a W fEe gew gfg e Fifsu

(i) I ()

(ii)  IeaeA st (30E)

(iii) IORA = 9fd 3HE 5 ()
(iv) 3| =% ()
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I

1

1

1

1

3
700
900
40
1,000
800
3,000
20,000

P.T.O.
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Find Net Value Added at Market Price :

(i) Depreciation (T) 700
(ii)  Output sold (units) 900
(iii} Price per unit of output (%) 40
(iv)  Closing stock (%) 1,000
(v)  Opening stock () 800
(vi) Sales tax (T) 3,000
(vii) Intermediate cost () 20,000
23, T T ARG AR & AHE & GHIE | 3

Explain the ‘standard of deferred payment’ function of money.

24, TUd I T IUGM 5% W FA § fAU 99 I w007 mARU | iEfes S osEm
HifAT | 3

Qutline the steps taken in deriving Consumption Curve from the
Saving Curve. Use diagram.

qiz fefafET 797 90 gIPgid QUanaal & 60 797 G50 24 % ™WHF W E |

Note : The following question is for the Blind Candidates only, in lieu
of €. No. 24.

I T SR swa g ¥ @M W TS ISR 1 gErae ¥ Huen’ |

Distinguish between pr-:}pensii;y to consume and propensity to save,
with the help of numerical examples.

581 8
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25. fo=fafad | sodm =9 i S 3
¥ 319 = T 5,000
@ (Fa9) 3TE = T 1,000
Hiia 3949r 59 = 0-80
Find Consumption Expenditure from the following :
National Income = ¥ 5,000
Autonomous Consumption = ¥ 1,000

Marginal propensity to consume = 0-80

26. TEH T § Yo WAl 3R IS WfEd & 99 W 9950 | YoS & el
e | 3
eET
Wfdw ferar &= § S a9z & qHE g9y |

Distinguish between revenue receipts and capital receipts in a
government budget. Give example in each case.

OR

Explain the role of government budget in bringing economic stability.

27. frafafaa =i sifom =39 o= s/ 9feT 41 megadl =99 ? 399 S & fow SO
CUE 4
(i) UH B FA GAEL & GG
i) wf g0 TE-TEE W o T =19

Should the following be treated as final expenditure or intermediate
expenditure 7 Give reasons for your answer,

(1] Purchase of furniture by a firm.
(ii) Expenditure on maintenance by a firm.

28. F=E 3% F ‘sfaw woRE’ FH FEIEET | 4
HEA
47 9% W TER T IF T4 TEER |
Explain the ‘lender of last resort’ function of the central bank.

OR

Explain ‘government’s banker’ function of the central bank.

28/1 9 P.T.O.
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29, WM Toi¢ H ‘ToHEE G H SEERIT TR | THE T4 997 go g 2 4
Explain the concept of ‘fiscal deficit’ in a government budget. What does

30.

28/1

it indicate ?

(i) TR FHG W THa TET IR a9 (i) R H® e 9 () i

a Ffe -

(i)  fo=i sifm Iwam =9

(i)  TomEE

(iii) frae TPE YERT o
(iv) #Hfq =i

(v) TTHAl a9 39 =g
(vi) [Fad a9 &1

(vii) R =i

(viii) Faa s s9a gt fmir
(ix) fraa f4afE

(x) faeoi = fEe =5 31w

4, 2

o

R FE)
1000

100
1500
20
300
50

20
110
15

(=) 10

Find out (i) Gross National Product at Market Price and (ii) Net

Current Transfers to Abroad :

X crore)
(1) Private final consumption expenditure 1000
(i1)  Depreciation 100
(iii) Net national disposable income 1500
(iv) Closing stock 20
(v)  Government final consumption expenditure 300
(vi) Net indirect tax a0
(vii) Opening stock 20
(viii) Net domestic fixed capital formation . 110
(ix) Net exports 15
(x)  Net factor income to abroad (=) 10

10
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31. ‘THfE 3i0er F FEUNOT FEIRT | THEI 59 9 § auaw w4 ®

s ff TEEy | 6
gET

‘SEuRfa aUd F AU SHERU | TES Y F4 ° UieS HETgsds @i

i 4 qHHEY |

Explain the concept of ‘inflationary gap’. Also explain the role of
‘legal reserves’ in reducing it.

OR

Explain the concept of ‘deflationary gap’. Also explain the role of
‘margin requirements’ in reducing it.

32, ‘fadei fafmrg’ st ‘faeeh fafrma ¢ % @i aamu | R0 29 o fadeh fafm
T 3R faesh faffmm &t o 5 99 9=y wugmT | 6

Give the meaning of ‘foreign exchange’ and ‘foreign exchange rate’.
Giving reason, explain the relation between foreign exchange rate and
demand for foreign exchange.
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